Question a.) range: D=y=2 19 Ð f'(x) = 3(x+1)(x-3). (0,12) $f(x) = 3(x^2 - 2x - 3)$ $\frac{-3\chi^{2}-6\chi-9}{f^{(1)}(\chi)=\frac{6\chi^{3}}{3}-\frac{6\chi^{2}}{2}-9\chi}$ $=2\chi^3-3\chi^2-9\chi$ $=2\chi^{2}(\underline{x}-\underline{z})+3\chi(\chi-\underline{z})$ $=(2\chi^{2}-3\chi)(\chi-3)$ $(2\chi - 3)(\chi - 3)$ Zz $2\chi = \frac{3}{2}$ X=0 JD P=0 223-32-9x=0 X=0, 3, x=3.

ARBOFSTUBIES	
.)	
()	
·	
iii)	
	÷

ARD OF STUDIES New South WALES Auestiont 2 a (F(x) 0 $v = (4\pi \times 4)^{\frac{3}{4}}$ = 37,699 = 37,77 = 37,699 = 37,77